THI6EE TR

ES = T = A BRsAEFZI = 15

6 H(X) MEEHEER 327H 9:00 REEVA—

7H(B) REEE= 3H28H 9:30 HEtEVA—
2 8H(H) EAREBFTFEZ—MHK H1EAE 4H18H 10:00 #ifmBES
2 9 H ) AAXSFSEGKER S 9:00 HEtVS—

2R (K) £2BXBEX:E (&L - AERA) 2A27H 9:30 #PIHotE
3H#) £#HABEXRE (&Hx - #HL) 2A27H 9:00 &#PIHotE
48 ) TEHPREE (K- HD) 2A27H 9:00 &#PIHotE
5@ EHHPREE E-tR) 2A27H 9:00 &#PIHotE
6 H#H) [a#] HLREFPREER 2A27H 9:00 APIHotE
18H (LX) RAYAEYIHFER 58 38R 13:00 EESES
198 (B) RAFERFERR R 9:00 HEtVH—
19H(R) ERRBFFEZ—MHR F2@EA 4188 10: 00 #ifmBES
2 6 H(A) £BXEFHEREBFTER 58148 13:00 REtv42—

sokkskokokkokokkokokokokokokokokokokokoksokoksotoksoroksokoksoroksorkksokkskorkskskorkskskorkskskokskskokskskokskskokskskokskskokskokokskokok sk



